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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give the answer of the following questions

	 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE&

	 (i)	 What is literacy in India as per 2011 census.

		  2011 H$s OZJUZm Ho$ AZwgma ^maV ‘| gmjaVm H$s Xa ³¶m h¡?

	 (ii)	 State any two fundamental feature of Indian economy.

		  ^maVr¶ AW©ì¶dñWm H$s H$moB© Xmo AmYma^yV {deofVmE± ~VmBE&

	 (iii)	 Give two suggestions to reduce Unemployment in India.

		  ^maV ‘| ~oamoOJmar H$mo H$‘ H$aZo Ho$ {bE Xmo gwPmd Xr{OE&

	 (iv)	 Write down  4 items exported by India.

		  ^maV Ûmam {Z¶m©V {H$E OmZodmbo {H$Ýht Mma ‘Xm| Ho$ Zm‘ {b{I¶o&

	 (v)	 What do you understand by industrial finance?

		  Am¡Úmo{JH$ {dÎm go Amn ³¶m g‘PVo h¡?

	 (vi)	 What is composition of Indian foreign trade?

		  ^maVr¶ {dXoer ì¶mnma H$s g§aMZm ³¶m h¡?

	 (vii)	What are non-renewable resources?

		  J¡a-Zì¶H$aUr¶ g§gmYZ ³¶m h¡?	

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 What are the cause of poverty in India?

	 ^maV ‘| Jar~r Ho$ ³¶m H$maU h¡?

3)	 What is the food problem in India?

	 ^maV ‘| ImÚ g‘ñ¶m ³¶m h¡?

4)	 What is the direction of Indian foreign trade?

	 ^maVr¶ {dXoer ì¶mnma H$s {Xem ³¶m h¡?

5)	 What are the sources of industrial finance in India?

	 ^maV ‘| Am¡Úmo{JH$ {dÎm Ho$ ñÌmoV ³¶m h¡?

6)	 What are the features of industrial development in India?

	 ^maVr¶ Am¡Úmo{JH$ {dH$mg H$s {deofVmE± ³¶m h¡?

7)	 Give argument in the favour of globalization in the content of 

Indian agriculture.

	 ^maVr¶ H¥${f Ho$ gÝX^© ‘| ^y‘ÊS>brH$aU Ho$ nj ‘| VH©$ Xr{OE&

8)	 “Given revolution was partially successful”. Discuss.

	 ""h[aV H«$mpÝV Am§{eH$ én go g’$b Wr'' {ddoMZm H$s{OE&

9)	 Discuss the role of WTO in the content of industrial development.

	 Am¡Úmo{JH$ {dH$mg H$s gÝX^© ‘| WTO H$s ^y{‘H$m H$s {ddoMZm H$s{OE&
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Critically evaluate the poverty eradication programme in India.

	 ^maV ‘| Mbm¶| Om aho Jar~r CÝ‘ybZ H$m¶©H«$‘m| H$m AmbmoMZmË‘H$ 
‘yë¶m§H$Z H$s{OE&

11)	 Discuss the institutional credit system in India for agriculture.

	 H¥${f Ho$ {bE ^maV ‘| g§ñWmJV gmI ì¶dñWm H$s {ddoMZm H$s{OE&

12)	 What are the objectives of export-import policy of India.

	 ^maV H$s {Z¶m©V-Am¶mV pñW{V Ho$ CX²Xoí¶ ³¶m h¡?

13)	 Suggest measures of promote the industrial development in 

India.

	 ^maV ‘| Am¡Úmo{JH$ {dH$mg H$mo ~T>mZo Ho$ {bE gwPmd Xr{OE&


